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The Minister’s Black Veil 
Group Discussion Questions 
Come to a general consensus about the following questions in a group using the information from your notes.   All answers should be well explained and elaborate!
1. What is Hawthorne’s point of view? (based on the story, how does he view the world?)
2. What information do you have to show Hawthorne’s point of view? (a quote or example from the story - must have a page numbers) 
3. What are some possible implications to Hawthorne’s point of view? (what could possibly happen if his point of view was put into action or applied to life?)
4. What assumptions does Hawthorne make about human beings? (what does he assume is true about life that might not actually be true?)

5. Are Hawthorne’s assumptions warranted? (is it ok to for Hawthorne to assume what he does? What could his assumptions lead to?) 

6. What ideas or concepts does Hawthorne convey in the story? (feelings or expressions about life)
7. What issues or questions is Hawthorne trying to solve? (what problems about life does Hawthorne bring up?)
8. What is the purpose of the story? (what message does Hawthorne want the reader to take away from the story?)
9. Why do you think Hawthorne does NOT reveal the reason Parson Hooper begins wearing the veil? Explain your answer. 

10. At some point in our lives, most human beings will feel guilty about something. Do you think that guilt is ever beneficial? Explain your answer.  

11. In what ways does this parable convey the message that people possess the potential for both good and evil? Explain your answer. 
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